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भौितकȧ 
Physics 
(312) 

िश¢क अंǑकत मूãयांकन पğ 
Tutor Marked Assignment 

कुल अंक : 20 

Max. Marks : 20 
 

ǑटÜपणी :  (i) सभी Ĥư अिनवाय[ हɇ। Ĥ×येक Ĥư के िलए आवǑंटत अकं Ĥưɉ के सामन ेअंǑकत हɇ। 
Note:   All questions are compulsory. The marks allotted for each question are indicated 

against each question. 

 (ii) उƣर पुǔèतका के पहल ेपƵृ के शीष[ पर अपना नाम, नामांकन सÉंया, अध ् ययन केन ् ġ का नाम और 

ǒवषय िलखɅ। 
Write your name enrolment number, AI name, and subject on the top of the first 
page of the answer sheet. 

 
1. िनàनिलǔखत मɅ स ेǑकस एक Ĥư का उƣर लगभग 40-60 शÞदɉ मɅ दȣǔजये। 2 

  Answer any one of the following questions in about 40-60 words.  
 

a) दो सǑदश रािशयॉ ंिनम ् नवत ्िनǾǒपत है: 

r= rxi + ryj 
F = Fxi +Fyj 
इन रािशयɉ के अǑदश तथा सǑदश गुणनफल िलǔखए। ऐसी दो रािशयɉ के नाम िलǔखए जो दो सǑदश 

रािशयɉ के अǑदश और सǑदश गुणनफल के Ǿप मɅ Ĥाप ् त होती हɇ।   

 (पाठ-1 देखɅ) 
Two vector quantities are represented by : 
r= rxi + ryj 
F = Fxi +Fyj 
 
Write the scalar, and vector products of these quantities. Give the names of two 
physical quantities which are obtained as the scalar product and vector product of 
two vector quantities. (See Lesson-1) 

 
b) Ǒकसी सरल आवतȸ दोिलğ का ǒवस ् थापन िनम ् निलǔखत समीकरण Ʈारा व ् यक्  त Ǒकया जाता है:  

Y = 10-2sin (314t + π/4)  
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जहॉ ंसभी रािशयɉ को SI माğकɉ मɅ िलया गया है। इसके दोलनɉ कȧ िनम ् निलǔखत ǒवशेषताए 

िलǔखए। 

(i) आयाम  

(ii) आविृत  

(iii) आरंिभक चरण 

(iv) वेग का आयाम                      (पाठ-13 देखɅ) 

 
Displacement of a simple harmonic oscillatoris expressed by the following equation. 
Y = 10-2sin (314t + π/4)  

Where all the quantities art taken is SI units. Find the following characteristics of its 
oscillations. (i) Amplitude, (ii) Frequency, (iii) Initial Phase, (iv) Amplitude of 
velocity.  (See Lesson -13) 

 
2.  िनàनिलǔखत मɅ स ेǑकसी एक Ĥư का उƣर लगभग 40-60 शÞदɉ मɅ दȣǔजये। 2 

 Answer any one of the following questions in about 40-60 words. 
 

a) Ǒकसी सरल रेखा मɅ गितमान कण का ǔèथित-समय Ēाफ साथ के िचğ मɅ दशा[या गया है। कण कȧ 
औसत चाल और औसत-वेग पǐरकिलत कȧǔजए :  

 (पाठ-2 देखɅ) 

 
 

The position-time graph of a particle moving in a straight line is given in the figure 
shown alongside. Calculate the average speed and average velocity of the particle.  
 (See Lesson -2) 
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b) वाय ुमɅ Ǒकसी समवǑĐत उत ् तल लɅस Ʈारा बन ेĤितǒबम ् ब कȧ उसके ǑƮतीय फोकस-ǒवन ् द ुस ेदरूȣ x2 

=30 cm है जबǑक ǒबम ् ब कȧ Ĥथम फोकस-ǒबंद ुस ेदरूȣ ,x1 = 10 cm है। लɅस कȧ फोकस दरूȣ का 
पǐरकलन कȧǔजए। (पाठ-20 देखɅ) 

 
The distance of the image formed by anequi-convex lens, in air, from its second 
focus, x2=30 cm, while the distance of the object from the first focus is, x1= 10 cm. 
calculate the focal length of the lens.  (See Lesson -20) 

 
3.  िनàनिलǔखत Ĥưɉ मɅ स ेǑकसी एक Ĥư का उƣर लगभग 40-60 शÞदɉ मɅ दȣǔजये। 2 
 Answer any one of the following questions in about 40-60 words. 

a) एलुिमिनयम का एक लम ् बा चैनल िचğ मɅ Ǒदखाए अनसुार मोडा गया है। इसमɅ कोई कंचा कम स ेकम  

Ǒकतनी ऊँचाई स ेलढ़ुकाया जाए Ǒक यह चनैल म ेपूरा लूप घमू कर दसूरȣ और िनकल सके?  

      (पाठ-4 देखɅ) 
 

 
A long aluminum channel is bent in the form shown in the figure. What is the 
minimum height from which a marble should be rolled down in the channel so that is 
may negotiate the full loop and come out from the other side.    (See Lesson -4) 

 
 

b) Ǒकसी खगोलीय टेलीस ् कोप कȧ आवध[न-¢मता 100 है। सामान ् य समजंन कȧ ǔèथित मɅ इसके 

अिभǺçयक और नेğक के कɅ ġɉ के बीच दरूȣ 2.02 m है। टेलीस ् कोप के अिभǺष ् यक और नğेक कȧ 
फोकस दǐूरयɉके मान पǐरकिलत कȧǔजए।      (पाठ-23 देखɅ) 
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The magnifying power of an astronomical telescope is 100. In its normal adjustment 
the distance between the centres of the objective and eye piece of the telescope is 
8.08 m. calculate the values of focal lengths of the objective and eye piece of the 
telescope.  (See Lesson -23) 

 
4.  िनàनिलǔखत Ĥưɉ मɅ स ेǑकसी एक Ĥư का उƣर लगभग 100-150 शÞदɉ मɅ दȣǔजये।  4  

 Answer anyone of the following questions in 100-150 words.    
 

a) भौितकȧ कȧ पुस ् तकɉ मɅ आपन ेपढ़ा होगा Ǒक पथृ ् वी का ġव ् यमान 5.97x1024 kg है। कोई ऐसी ǒविध 

सझुाइए ǔजसके Ʈारा व£ैािनक पथृ ् वी का ġव ् यमान £ात करत ेहɇ। 
     (पाठ-30 देखɅ) 

In Physics books you might have noticed the mass of earth to be 5.97x10 24 kg. 
Suggest a method by which the scientists find out the mass of earth.   
     (See Lesson -5) 

 
 
 b) बेतार के Ĥभावी दरू संचार के िलए हमɅ िसग ् नलɉ को मॉडुिलत करना आवश ् यक क्  यɉ हो जाता 

है? कोई तीन कारण िलǔखए। मॉडयुलन के ĤĐम मɅ हम Èया करते हɇ? िनम ् निलǔखत युǒƠयɉ 
मɅ संचार के िलए हम कौन-कौन स ेरेǑडयɉ तरंग- बɇडɉ का उपयोग करते हɇ।  

  (i) सोनार  

(ii) रडार  

(iii) एफ एम रेǑडयो  
(iv) उपĒह संचार  

 (पाठ-30 देखɅ) 
 

Why do we have to modulate signals for effective wireless telecommunication? Give 
any three reasons. What do we do in the process of modulation? For Communication 
in the following devices which radio frequency bands do we use? 
(i) SONAR 
(ii) Radar  
(iii) F.M. Radio  
(iv) Satellite Communication  (See Lesson -30) 

 
5. िनàनिलǔखत Ĥưɉ मɅ से Ǒकसी एक Ĥư उƣर लगभग 100-150 शÞदɉ मɅ दȣǔजए।  4 

 Answer any one of the following questions in 100-150 words. 
 

a) आपको दो एक जैसे  Ǒदखाई पड़ने वाले गोले, A और B Ǒदए गए है ǔजनकȧ ǒğज ् याएं और 

ġव ् यमान बराबर हɇ। वास ् तव मɅ ये गोले दो िभन ् न पदाथɟ  के बने है और इनमɅ स ेएक गोला 
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ठोस है तथा दसूरा एक गोलीय खोल। कोई ऐसा Ĥयोग सुझाइए ǔजसके Ʈारा यह पता लगाया 
जा सके Ǒक कौन सा गोला अन ् दर से खोखला है। अपने उत ् तर के समथ[न मɅ तक[  दȣǔजए।
 (पाठ-12 देखɅ) 

 
You are provided with two identical looking spheres A and B having equal masses 
and radii made of different materials. Actually one of them is a solid sphere and the 
other is a spherical shell. Suggest an experiment to find out which of the two is 
hallow from within. Give reason in support of your answer. 

 
b) क्  या सौर ऊजा[ के Ĥभावी उपयोग स ेहमारȣ ऊजा[ समस ् या हल हो सकती है? आǑंकक पǐरकलनɉ Ʈारा 

इस Ĥश ् न का उत ् तर दȣǔजए। अपन ेउत ् तर के िलए Ǒकए जाने वाल ेपǐरकलन मɅ आप िनम ् निलǔखत 

आंकडɉ का उपयोग कर सकते हɇ। 
पथृ ् वी के िलए सौर िनयतांक =  1.36x103 w m-2  

पथृ ् वी कȧ ǒğज ् या =  6.4x10-8m  

स ् टȣफन-बोल ् डसमान िनयतांक  = 5.7x10-8 w m-1 k-4 

सयू[ के पषृ ् ठ का ताप =  6000 k 

सयू[ कȧ ǒğज ् या  =   7x105 km         

पथृ ् वी कȧ क¢ा कȧ ǒğज ् या =  1.5x102 km 

पथृ ् वी कȧ जनसंख ् या =  10 billion 

 (पाठ-12 देखɅ) 
Can the affective utilization of solar energy solve our energy problem? Giving 
numerical calculations answer this question. In your calculations you can use the data 
given below: 
Solar constant for earth  =  1.36x103 w m-2      
Radius of birth  =  6.4x10-8m 
Stefan Boltzmann Constant  =  5.7x10-8 w m-1 k-4 
Temperatures of the Surface of Sun  =  6000 k 
Radius of sun =   7x105 km 
Radius of the orbit of earth =  1.5 x102 km 
Population of earth =  10 billion  
 (See Lesson -12) 

6.  नीच ेदȣ गई पǐरयोजनाओ ंमɅ स ेकोई एक पǐरयोजना तयैार कȧǔजए।  6 
 Prepare any one project as given below.  

a) एक रबर कȧ डोरȣ लीǔजए। इसका एक िसरा Ǒकसी Ǻढ़ आधार पर जड़ दȣǔजए और ऊघ ्[ वाधर लटकते 
दसूरे िसरे पर एक हल ् का पलडा जोड़ दȣǔजए। पलड़े के ठȤक ऊपर एक संकेतक लगाइए जो ऊघ ्[ वाधर 

पैमान ेपर स ् वतंğ Ǿप स ेऊपर नीच ेहो सके। 10-10 Ēाम  के भार पल ् डे ़पर बढ़ाते हुए हर बार  पैमान े

पर संकेतक कȧ ǔèथित नोट कȧǔजए। इस Ĥकार  इस चरणो मɅ घंटाइए और Ǒफर स ेहर बार सकेंतक 
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कȧ ǔèथित नोट कȧǔजए। Ĥाप ् त आंकडɉ को सारणीबƨ कȧǔजए और भार के साथ लम ्बाई मɅ होन ेवाल े

पǐरवत[न को भार के बढ़त ेĐम का तथा भार के घटत ेĐम का Ēाफ एक हȣ Ēाफ पेपर पर  बनाइए।  
 रबर कȧ डोरȣ के स ् थान पर कोई ǔèĤगं लेकर Ĥयोग को दोहराइए। दोनɉ ǔèथितयɉ मɅ Ĥाप ् त Ēाफɉ कȧ 

तलुना कȧǔजए।      (पाठ-2 देखɅ) 
Take a rubber string fix its one end to a rigid support and attach a light scale pan on 
its lower end. Attach a pointer just above the pan which may move freely against a 
vertical scale. Add weight on the pan in steps of 10g and note the position of the 
pointers in each case. Take 5-6 readings .Note the position of the pointers again 
while removing weights from the pan. Tabulate the data and draw case of load 
increasing as well as load decreasing on the same graph. Repeat the experiment using 
a spring in place of rubber string. Compare the graph obtained in the two cases.  
        

b) गसैɉ का ऊष ्मागितक िसƨातं हमɅ समीकरण p=1/3 m nc2 Ĥदान करता हैा इस समीकरण का उपयोग 

करके गैस संबंधी िनम ् निलǔखत िनयम åयु×पÛन कȧǔजए: 

1. बॉयल का िनयम  

2. चाल ्[ स का िनयम  

3. ग-ेल ् यसुेक का िनयम  

4. एवोगैġो का िनयम  

5. डाल ् टन का आंिशक दाब का िनयम   

6. गैसɉ के ǒवसरण संबधंी Ēाहम का िनयम    

     (पाठ-10 देखɅ) 
 

b) Kinetic Theory of gases provides us the equation p=1/3 m nc2 using this equation 
derives the following laws: 
1. Boyle’s Law 
2. Chari’s Law 
3. Gay-Lussac’s Law 
4. Avogadro’s Law 
5. Daltons Law of partial pressures  
6. Graham’s Law of diffusion  

 
  (See Lesson-10) 


